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Paper : GE-3 A
(Indian Economy )

1. @R e Ted o 1x8=8

Answer the following questions :

(a) R 2

What is disinvestment?

(b) SIS faSH R AfRFE R Ry
fofee amw tafee o

Which model was adopted to prepare the
Second Five-Year Plan in India?
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(2) - | (3)

(c) PRI A T 52 (c) T S =Pl

What is meant by demographic Growth and Inequality
dividend? (@ S ¥
(d) R T PIRE AR T ST o Poverty line

Write the new formula of calculating
Human Development Index (HDI).

(e) AT CFare S S fORoflefF SfRfo wer

Comparison of the rank of India and

(e) TRIT wime s 52 Singapore in trade
What is Multidimensional Poverty Index
(e T PR O o (2IfTh @ o 0 e oeTe) -
(N wRweR 71 4% & 2 Answer the following questions (within 500 words
What are the two types of poverty? each) :
(g) ‘Four Asian Tigers’ 3@ I1% /1 =7 ; : 3. (a) SR AeEe ARTEAR TR TPz
Who are called ‘Four Asian Tigers’? & wrfeet 2 S 4 | 14
What are the overall objectives of India’s
(h) IMF 3 =9 |6l ferdn | Five-Year Planning? Discuss.
Write the full form of IMF. w2ql / Or
2. wo R @ BRGR e 5y G o (et (b) >vd> o AT ofolen AT AR
seo A fooTe) 4x4=16 ROPFR o | -

Write the advantages and disadvantages

Write short notes on any four of the following of Economic Reforms of 1991.

(within 150 words each) :

() ST fSFem 4. (@) R T AR TR T A F @2 o[
Import substitution TR TH S Joid TN CICEISIS I ETe 126

: AT 01 2+2+10=14
AR IR What do you mean by death rate and
Human Development Index birthrate? Discuss briefly the trends of

birthrate and death rate in India.
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(b)

5. (g

(b)

6. (a)

(b)

P23/202

(4)

91/ Or
oRed NS R @ ASH A
AT 34T | 14

Discuss the impact of growth of
population on Indian economy.

TRuer @ 7 SR wRgel AR
PADPTTZ. 001 T4 | 2+12=14

What is incidence of poverty? Explain the
causes of poverty in India.

27 / Or
SR W (FeR AR O 43S Feord
TS 3547 | 14

Discuss about the magnitude and
nature of income inequality in India.

©Re HE W @RI ST panEe
[ T4 | 14

Comparatively analyze the economy of
India and South Korea.
T/ Or

RS AP BRAWE HDI ¥+ ol <41 | Sizareet
SYARSTE T WA T oA
[ 2+12=14
Compare the HDI rank of India and

Taiwan. Explain the measures taken by
Taiwan for economic development.

{ Continued )

(S)

Paper : GE-3 B

( Money and Financial Markets )

1. wors fucar Fotrmm Ten B 1x8=8

Answer the following as directed :

(@)

(b)

P23/202

oo TEeemd v (95, =iz, f4.) we=
@R 9@ 79fES 2

Systematic Investment Plan (SIP) is
related to

(i) FThE= Fie

mutual fund
(i) SRS &g 1 e
LIC
(iii) & [T
commercial bank
(iv) TR S @&
post office savings scheme

(= Teaeo! Ao Tferean )

( Choose the correct answer )

__ 2% 39 I9RA 99 ARER TS @ T
fiyey = WF ER TEEEE o oo

fFfem q |

il (< 572 7 51 )
is a situation in the bond market
when the rate of interest falls to itsg
lowest level and speculative demand for
money becomes perfectly elastic.

( Fill in the blank )

( Turn Over)



(c)

(@)

(e)

(g)

P23/202

(6)

%5 Ggdl Ry W TS ARl o
A TEe 1 [PIPR 9@ R Tigw
21 a1z T4 czE | R

is the money which is accepted as
a medium of exchange because of the
trust between the payer and the payee.

( Fill in the blank )

SHeR TR [RER TUEORRl WEE bl
e T |

Give one example of non-banking
financial intermediaries in India.

T’ SR YEE IR g |
(MR ST 2@ 34 )

is the regulatory body for the
capital market in India.

( Fill in the blank )
‘Sensex’ o (bl 2

What is the full form of ‘Sensex’?

sRwe g’ @ wRs t2few 2
When did ‘Nifty’ start in India?

(i) >553 (ii) Ssdv

1992 1998

(it)) Ssd% (iv) S558

el 1994
(% Te30h1 1fB et )

( Choose the correct answer )

{ Continued )

(7))

(h) TERS 4 ART o IR W @I QT
o (IOl “CEe 279 T¢I ?

Which of the following is a step that the
Central Bank will take to increase the
overall availability of credit in the market?

() @ @CE I SrE T TR
& 99

It will sell the government securities
in the open market

(i) FET Q@TF TR WG e TEE

o]l FF T
It will buy the government securities
from the open market

(i) @B e Roe @7 @6 TR+

It will increase reverse repo rate

(iv) RN @Te @1 &6 A IR

It will raise the repo rate

( % Teeo! A Sfenean )

( Choose the correct answer )

2. 5 G fe 4x4=16

Write short notes on :

(@ JMREE @ TR

Functions of commercial bank

(b) Tw-TAOPT R >l
High-powered money
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4.

(8)

() ReF wpm
Financial institution
(d) BF &R PIRT

Stock market index.

T4 IR @ 7 quR FR@EA I 400 4+8=12
Define money. Discuss the functions of
money. '

4§ / Or

TR @6 CFae SRe RE® @We o™ers 41
Tl Sl 1 | @[ QG {Cwed 4R 74
TG ZOIq (e ? 8+4=12
Discuss RBI's approach to supply of money.

How does money supply influence the general
price level?

SR R 493 IwRT R e <=1 | 11

Discuss the financial sector reform in India.
%211/ Or

CoreeT for - 5Y%+5Y%=11

Write notes on :

(@) SRIAG A1AfEF @
Primary market of securities

(b) TG ¢ IER
Secondary market of securities

Faor«ds ( Continued )

(9)

5. 5 TCH WA 7 BF WO PR SN F |

3+8=11
What is stock market? Discuss the functions
of stock market.

</ Or
29 TCHD PIRE AT FAR &S AN I | EF
WWW@WWWI 7+4=11

Discuss the methodology for calculating stock
market index. Discuss the importance of

stock market index.

S WA M 2O OGCoT SCEb 41 |
LGS oeferE T SrEY A1 8+3=11

Discuss the expectation theory of term
structure of interest rate. Mention the sources
of interest rate differentials.

{1 / Or

e A 3feree & 387 0 I O S weh
H[CEwAl 41 | 2+9=11
What is liquidity preferena?? Discuss the
liquidity preference theory of interest rate.

S @ TSI T AT T | WA
e fae s (e F9reR & & wfden
2R TR, e 90 5+6=11
Discuss the objective of monetary policy in
India. What are the instrufnents used by
monetary authority to exercise control over
money supply in the economy?
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(10)

241 / Or

©RST CTROMI Ju1 Mo R Acams= 4 | 11

Discuss the current monetary policy of India.

Paper : GE-3 C

( Environmental Economics )

1. e fraaRy ForrEa Tes o 1x8=8

Answer the following as directed :

() ~REE @T 2 bl

Environmental quality is a

(i) &= T
public good

(ii) IfEre w=y
private good
(i) SRR T
common property resource

(iv) ST GBS =
None of the above

(o e 1Mo Sferear )

( Choose the correct answer )

P23/202 ( Continued )

(11)

(b) R TROEE RGBS B0l XA

The condition for optimum allocation of
resource is

(i) AT T I/ > AR e e

MSC > MSB

(i) ST NG 7 = 21fFs T =
MSC = MSB

(iii) e1feT Tes T8 < AT AR ==
MSC < MSB

(iv) ST GBS =
None of the above

(= Seaes 1o Sferean )

( Choose the correct answer )

(o) S Sl B T e

Mention one characteristic of common
property resource.

(d) R AR TR T I e
R A F9 QRO SERCGHT SAifeRm-
G A o |
Name the economist who advocated
the assignment of property rights
for efficient solution of environmental
pollution.

(e) I I 2

What is carbon trading?
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0

(g)

(hy

(12 )

ARPROFSIE 2 @B Giowyz corma =9 forst |

Name one naturally generated greenhouse
gas.

& T T AR W@ AP b1 2P I
ferr 1

Mention one man-made pollutant
responsible for ozone layer depletion.

PRIG - ITTFTeR (@149 4RAIGR 5y
Nymer SEy T4 |
Mention one limitation of Pearce-

Atkinson approach of measuring
sustainability.

2. mmﬁ@mﬂﬁ%ﬁewwmﬁm

(2T S0 e o) -

Write short notes on any four of the following
(within 150 words each) :

(@)

(b)

(c)

(d)

p23/202

CLTROHT o

Common property resources

TE Rererer Sespryz

Sources of market failure

MRt w3Afes TPz

Objectives of environmental economics

TR T

Sustainable development

( Continued )

Sx4=20

(e)

0

(13 )

sREffefes 37 e afs

Contingent valuation method

NS I AROEA

Joint Forest Management

Wwwm(ﬁﬁeoomm) :

Answer the following questions (within 500 words

each) :

3. (a)

(b)

P23/202

ARe e & T AT TF AT
el SewE fefities Swrzaa faar 1 st
PR @A AR (N e
PRI 1R, e ¥4 |
What are externalities? Give th‘fee
examples each of positive and negative
externalities. How can externalities
be internalized through government
intervention? Explain.

qr / Or

35 g RIPTR 7 77 o e
o TR SHFR M T FGS Tl o5
TR FA0 (RCTA PRI FF ] 1R,
51 foaq FERS I 70|
What are the assumptions of Coage
theorem? Explain with a diagram, how
bargaining between two parties wi]
ultimately generate an efficient outcome
even if property right is assigned to the
polluting firm.

( Turn Over)
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4. (a)

(b)

5. (a)

p23/202

( 14)

aET P AF QIRERE o s
ﬁﬁﬁ%ﬁwww%ﬁmmmq
foa e R TN TENE e
PR “afS =i iy 2 6+6+1=13

Explain with diagram, the emission fee
and tradable pollution permit as the two
incentive-based solutions to the environ-
mental problem. Which method is more
familiar in the contemporary world?

w2€ / Or

e ERe Ee AR TRy
SEIPTER I 9 e 5+4+4=13

Explain the global environmental
concern with special reference to the
following :

(i) 399 4Ras
Climate change

(@) T TH T
Ozone layer depletion

(if)) CTERN TxEel I
Global warming

AN TR el {7 ARy
TR SR S 7 | 3+10=13

What is the need for environmental
valuation? Discuss the methods of
environmental valuation.

( Continued )

(b)

(@)

(b)

( 15 )

52491 / Or

R @ A mfes fFr «iffcei @
TJERAR A T (R AR, A /A 6]
e RYN SF SRR S0 1 |
7+6=13

Explain how the hedonic pricing method

can be used for valuation of an environ-
mental good. Discuss the advantages
and disadvantages of this method.

TRy ard RfSH (R I
AL 41| 13

Critically discuss different concepts of
sustainable development.

4/ Or

el = ydel IRl Jfeca & e, T
391 | AT T SF T2ATH ORI VO
faam ez 3 P SR 7 (OF[ TeTT Hew
e fra | 6+7=13
Explain the meaning of strong and weak
sustainability. Do you think that there
are conflicts between economic growth

and sustainable development? Give
reasons for your answer.
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